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Year | FERRBRKT) | MBUUEEAM) | STMHEBI(P) | CPI PPI GDP 8

2001 1055 5206 100.00 100.00 | 100.00 100.00
2002 1351 5591 101.60§  97.80 102.70
2003 1578 5981 103.90} 103.00 104.20
2004 1650 6261 106.70 | 109.40 106.60
2005 1720 6534 11030 11740 111.00
2006 2075 6840 113.90] 12290 113.70
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» Assuming that a frequently used usility function is the Cobb-Douglas utility function, which can be
represented in the following form: '
U(X, Y)=alog(X)+(1-a}log(¥),
subject to the constraint that all income is spent on the two goods:

PX+pRY=[, and in the meantime, let a=03, P, =52, B =34, and 1=3$260

To find the demand functions for X and ¥, we first write the Lagrangian:

@ = alog(X) +(1-alog(Y)- AP, X + £, ¥ -1} . Please answer the following questions:
(1) What does that mean by Lagrange Multiplier? (15%)

(2) A=? (5%)

(3) ¥=7 (5%)

+ A consumer's consumption-utility function for a two-period horizon is U =GC*; his income
stream is ¥, =1000, ¥, =648 and the market rate of interest is 8%. Please do the following questions;
(1) Defermine the values for ¢ and c, that maximize his utility. (15%)

(2) Is he a borrower or lender? (10%)
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